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36. HEjof, o] HAE o] opAA Zc} 0 .
a) ek b) wrole} c) Azt =g
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37,

~

38.

39.

40.

41.

42,

43.

45.

2 o AAAE e the| 7} & opxAIZ} Fr.

a) o}zl b) ox]4l ) 4% d) ¥43

A AN # 3|A 7} Fhke A 24 A0 8.

a) 9 b) Ad ) A d) 7+4

IE 27t 4% 2 29bate] Aol of® AEE Ade ¥ ¥ eiviy
BEel eFsgln, oinuiA RE 4& 29 vl Eo2,
a2 A vge® 59 ;

a) = - F9Uo b) 34 - =3

) Al - =5 d) tAlE - g

sl b AR K A5ste d9e duA 38 F22 Zoh

a) 4o b) W&ol c) #A7} d) el

Evks Agde $98 AgetA 29 opie FyE B
2 A2AAY b AeAg o 2 8 27tk

ohuiy, 2ol @ oA RS Ads.
) WAl b) 47 o FFA7 @ 97
ol A g GopH A7 B dollt ol A, o7} F4Aehz

s gAY op o dEjME EolA] U Zo] AFoln BFE Y
o]},
a) % b) A A ¢) 42 d) §A¢

i ¢ ool F& B o] Qo AvA dE A W
2olA e Moz Bohet o, $Ael F24 de) Ay}
) WhbE b AR o dedh ) Yrkel

e & gol AFEdA =2 | %S BA Fe & % A

ohvel, F& Fele €l FvldA vl e ok ¥
a) =8 & b) =4 ) T d =
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46.

47.

48.

49.

5.

52.

3.

At oA Ye s Bre] RE Fo] v o] 7otk AY
o] AAele] 7] Ao Pol EFAY G424, EHG bl QoA oFo

By o« » 8hiL glabEg §c)
a) 38| #7482 b) s EF4AL
¢) & A=} d) ol4 248

U= gujy dof] ARES 3otk Seie AN .
a) ¢+ A4 b) e ¢) 9 d) slsich

g9 Wt ERA olzd drkx Zcs AAE okl oeur UE
D FERG b FEREY o 248G o AduT

4 "'“E‘é’fﬂ*]—— Holx HAlx AE :
a) FoletAlct  b) Folilt ¢) ¥ale d) Fohd

. 74 ol8)e] 9E Agteldl ¥ 2¥ dt dAY ¥4, Fa A4l

A opAE 2 dex A3 (FE]) oAt oA %}
Zo] @k o] upE Loirt,
a) ©q b) BREFY o BEHASUS o BEIASHS

o] 4, o] AL A7}t A

a) =717 b) 88 ¢) =225 d) E4.
f-5e0f, FopAA A ojt]7} Z ojFo] Bole}
a) A7} b) B2t o) oFE7L d) o}= A7}

el AME Al A8 A FAeY Be A ik Welga
) ek} b BEYT o BESMIT o) Tel

A 294 9 & 71Fe] &l A4 g9y E Zkeich
a) 2.2 b) uh}E ¢) ThiAlE L
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35.

o] e £4 gk== Mojoja. $-2] AAYde] Aldg, olF F&
Holefi A4 ‘d’»‘M J&S}Hﬂﬁ
a) & b) T+ c) E¥ d) F4

56. oPHAANE EEE Shojof b TS = Siyre] WAl o] e,

ar

e 2 2] AL A& 23 ARl FUU7HE LhiE g 29
@ opAANE ALs BEE sgeA gonz 9 .
a) EoPHisun b) Wuba g

o FR&dd 4 A4 Wgaych

ol ALY vE g ste A « £& ofEolr g AWM -9
9 o& vy e =R &4 2gFe] .
a) T} b) =35 ¢) F4¢ d) £}
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Section 111 - Reading Comprehension
Directions: This part consists of a number of incomplete statements, each having four

suggested completions. select the most appropriate completion and fill in the corresponding
oval on the answer sheet.

Questions 58-59

v|3e A4 AAE 7R e 4 A 297 f8 4 2lss
el A3 Eelvx jick

AR 2o B2, o] siFsh: &, 7ol e gt FE G5 dUkE
o] 40 Wil A2z /1% Aes eyl

2529 A% A4EL 15U T XS s e § ESE
Bz At 4= o PEU HAY g e o g ALE 2
ok 28y A4 AFUs AR AS FRAE A bR 380 2rlx
2%t

A45ol e S8l A Aok o) As) Bbs@ 25 270] BAE,
Qe Trjshe odo] walFE Wi wakd 1A A4F Al L o]
o)A 3 gick

58. According to the passage, what attitude towards work are increasing numbers of women
adopting?
a) it is possible to maintain both a successful career and a family
b) climbing up the career ladder should be a woman's top priority
¢) spending time with your family is much more important than maintaining your career
d) you should maintain a career that matches your education level

59. How much time to increasing numbers of women spend with their children?
a) 40 hours a week
b) 40-48 hours a week
¢) 80 hours a week
d) more than 80 hours a week
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60. Which of the following people most likely wrote this passage?
a) a music student b) a concert violinist
¢) a waitress d) a college student

61. What kind of schedule does the author most likely have?
a) free and unstructured
b) a few daily commitments, but ample free time
¢) each day holds new surprises, leading to very little free time
d) extremely rigid, with no free time

62. What is the author most worried about?
a) disturbing her neighbor’s sleep
b) finding time to practice 4 hours a day
c) getting enough sleep
d) maintaining a social life
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ti 3-65.

g2 715 9 ARSI Aol w3 =€ 2dEd Relx 124 1637t
A g vhaol dch $ATLS AT A% $9E FFE W] A8 $4E A
AL wEPct o] WEo| waw T u|Re opjo} Al FEHoE A
A 0|7k R MEEHEE sby] fsiME Fh=E 1249 169744, A%E 12
4 NY7HA F4S vhAok @t g f2e) iAo EEHE FHELS oMo}
8] 7% 149 62742 TEsof gt

$AFe Wd 2AFS) HelE S8 AdA olAztA A £ dlv vHES
g Alghe EEstn gl

63. If you want to send a Christmas card to Korea, you must get it in the mail by:
a) December 16 b) December 11
¢) November 16 d) November 6

64. If you want to send a Christmas package to Korea, you must get it in the mail by:
a) December 16 b) December 11
- ¢) November 16 d) November 6

65. According to this passage, the post office can be characterized as:
a) efficient in service
b) inconsiderate of customer needs
c) not able to deliver all Christmas cards by Christmas
d) serving customers by communicating deadlines
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Questions 66-69.
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T 24417 B2t 8] ol ojd sl ek
2 74 ~94]
Az 3157} A&sEE Azk AFE 71 H AleE 23 FobAy 4zt
2| F¥ A7) feA gyt
249 ~ A
AdAE AA3] L Han HE s AU 284 olAdA<l gl A
AL AFY, ree] Asgcia ok Aol 3k F A¥e] 7MF Foia
Yok
2F 14 ~24]
QA2 odz|s} wIgFe] AAs] DojFuch B4 Aake] 23} el &
AL, QA 34 22t
2F 34 ~44]
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66. According to the passage, during which hours of the day is your eyesight the clearest?
a) 7TAM-9AM b) 9AM-noon
¢) 1PM-2PM d) 3PM-4PM

67. According to the passage, during which hours are athletes at their best?
a) 7AM-9AM b) 9AM-noon
¢) 3PM-4Pm d) 8PM-11PM




68. According to the passage, during which hours is your body temperature lowest?
a) 7AM-9AM b) 1PM-2PM
¢) midnight -3AM d) 4AM

69. According to the passage, during which hours does your body begin to get tired and

sleepy?
a) 7AM-9AM b) 1PM-2PM
¢) 3PM-4PM d) 8PM-11PM
Questions 70-72.

shdstal 82 A Aol & AAYch AE 25 Aol o= F44 27
FUch ofeiite] ol A4l wigh oEsial S wo el dEiA FEE =R
ek

ofejito] Aol AL 2Fe] ERFYE & D7) Al {=A] F7Ut
Fojrolol Firk Fol gk 7o) glowdd aFe g Foict AL FTUA
galo] ¢ & wiE= & AAE < gtk

Aeigo] F742 AL vl W ol AT cloprlsie] $Felt A
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AE% dEodL. B WAyl Aol £ B £5 & AL HAsHA
oF gck.

70. Which of the following types of texts if the passage?
a) essay b) speech transcript
c) letter ' d) report

71. Who is giving this message?
a) insurance company b) alarm company
¢) teacher d) police officer
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72. What is the main subject of this message?

a) home safety b) vacation trips
c) neighbor relations d) mail and newspapers
Questions 73-74.

spab /1 AP / o] ERA / A
U5 354 gAYzl

k2] Y Yoleks A3)7 Eoh=yc
OE, 4% 1, A, 43, AEA AT, $54, YA

Tl $EEEAS
5454 MainStreet#594 LosAngeles CA 90010
Tel: (213)555-8282  Fax: (213)555-8383

73. What kind of advertisement is in the passage above?
a) counseling center b) chiropractor’s office
¢) law firm d) insurance company

74. Services provided address each of the following areas except:

a) rebuilding your credit b) bankruptcy
¢) divorce d) drunk driving
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Questions 75-76.

aido] $-2] AL A Fhd sgly] wel, $2 YAEL ol v F & A
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75. Which of the following is the best title for this passage?
a) Growing Up Poor b) Healing Hands
¢) Sick Children d) Herbal medicine

76. What does this passage suggest about the nature of iliness?
a) Medicines are useless
b} Medicines is necessary
¢) Psychological factors contribute in addition to medical factors
d) The earlier you address an illness the more likely you will heal
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Questions 77-79.

4715t

Sei# A —-$895

AAE
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A 7 — $6.95
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F7)4-9] $9.50 A £2 $11.50

#HE vl ——$850 AR $7.50

b 4 [ee— | $ 8.50
77. What is this restaurant’s specialty?

a) soups b) barbecue beef

c) grilled fish d) stews

78. This restaurant serves each of the following dished except:
b) soy bean paste stew

a) kimchi fried rice
¢) grilled fish

d) tofu stew

79. How many dishes on the menu use mixed seafood?

a)l b)2

c)3
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uestions 80-81.
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80. Who is most likely the author of this passage?
a) a little boy b) a little girl
_ ) a teenager ; d) an older brother

81. What attitude led the author to become the best swimmer at camp?
a) commitment b) concentration
¢) competitiveness d) revenge




